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Polynomials : Worksheet -11 

1. If   and   are the roots of ( )002 =+− acbxax , then  +  is:[ ] 

[A] 
a

b
   [B] 

a

b−
  [C] 

a

c−
  [D] 

a

c
 

2. In the given figure, the graph of a polynomial ( )xp  is shown. The 

number of zeroes of ( )xp  is:      [ ] 

[A] 4   [B] 1    

[C] 2   [D] 3 

3. The zeros of the polynomial ( ) 9124 2 +−= xxxp are:   [ ] 

[A] 
2

3
,
2

3
   [B] 

2

3
,
2

3
−−   [C] 4,3   [D] 4,3 −−  

4. If the sum of the zeros of the quadratic polynomial 63 2 +− kxx  is 3, then 

the value of k is:        [ ] 

[A] 9   [B] 3   [C] 3−   [D] 6   

5. If 1−  is a zero of the polynomial ( ) 872 −−= xxxf , then the other zero is: 

           [ ] 

[A] 6   [B] 8   [C] 8−   [D] 1 

6. The number of zeroes lying between 2−  and 2  

of the polynomial ( )xf  whose graph is given below is:  [ ] 

[A] 2   [B] 3    

[C] 4   [D] 1 
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7. If one zero of the quadratic polynomial 652 −− xx  is 6, then the other 

zero is:          [ ] 

[A] 6−    [B] 5−   [C] 1−   [D] 1 

8. If both the zeroes of a quadratic polynomial cbxax ++2  are equal and 

opposite in sign, then b is:      [ ] 

[A] 0   [B] 1   [C] 1−   [D] 5 

9. The quadratic polynomial whose zeroes are 15  and 15−  is:  

           [ ] 

[A] 152 −x   [B] 152 −x   [C] 115 2 −x   [D] 2252 −x  

10. The number of zeroes of the polynomial function ( )xp are whose graph  

      is given below is:        [ ] 

[A] 0   [B] 1    

[C] 2   [D] 3 

11. The product and sum of the zeroes of the quadratic polynomial 

cbxax ++2  respectively     are:      [ ] 

[A] 
a

c

a

b
,

−
  [B] 1,

b

c
  [C] 

a

b

a

c
,   [D] 

a

b

a

c −
,  

12. If one of the zero of the quadratic polynomial cbxax ++2  is 0, then the  

      other zero is:         [ ] 

[A] 
a

b
−    [B] 0   [C] 0   [D] 3    

13. The number to be added to the polynomial 452 +− xx , so that 3 is the  

      zero of the polynomial is:      [ ] 

[A] 2   [B] 2−   [C] 0   [D] 3 

 

 


